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(SH g/ m*)

TE | €A . As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
1211 | 20 | 0.00618 | 0.01283 | 0.00041 | 0.00114 | 0.01538 | 0.23451 | 0.00093 | 0.10974 | 0.00001 | 0.23762 | 0.00301 | 0.11578
1212 | 2 | 0.00001 | 0.00120 | 0.00001 | 0.00000 | 0.00127 | 0.01811 | 0.00016 | 0.00748 | 0.00001 | 0.00721 | 0.00056 | 0.00646

StS | 1213 | 7 | 000023 | 0.00120 | 0.00008 | 0.00017 | 0.00307 | 0.06336 | 0.00031 | 0.03018 | 0.00000 | 0.05196 | 0.00135 | 0.02580
1214 | 7 | 000072 | 0.00372 | 0.00030 | 0.00356 | 0.00655 | 0.10454 | 0.00063 | 0.03737 | 0.00001 | 0.06521 | 0.00750 | 0.03671
1215 | 4 | 0.00036 | 0.00060 | 0.00003 | 0.00155 | 0.00143 | 0.03295 | 0.00000 | 0.00473 | 0.00000 | 0.00560 | 0.00377 | 0.00787
1211 | 30 | 0.00719 | 0.01677 | 0.00045 | 0.00748 | 0.09110 | 0.57191 | 0.00605 | 0.28963 | 0.00000 | 0.37980 | 0.01047 | 0.15568
1212 | 4 | 0.00026 | 0.00146 | 0.00004 | 0.00104 | 0.00653 | 0.13331 | 0.00143 | 0.03140 | 0.00000 | 0.07025 | 0.00872 | 0.02136

Zob 11213 | 11 | 000182 | 0.00821 | 0.00085 | 0.00527 | 0.01818 | 0.29611 | 0.00381 | 0.04933 | 0.00000 | 0.13234 | 0.00736 | 0.03911

12.14 19 0.00112 0.00982 0.00128 0.00483 0.04112 0.00443 0.09150 0.00000 0.00000 0.15476 0.01311 0.04446

12.15 12 0.00139 | 0.00594 | 0.00038 | 0.01799 | 0.06877 | 0.01666 | 0.06954 | 0.00001 0.00001 0.15121 0.02024 | 0.03058

12.11 29 0.00866 | 0.01898 | 0.00051 0.00213 | 0.02985 | 0.48090 | 0.00269 | 0.15202 | 0.00002 | 0.28597 | 0.00591 0.17755

12.12 3 0.00020 0.00083 0.00001 0.00000 0.00199 0.04493 0.00038 | 0.01961 0.00000 0.02976 0.00151 0.00760

%‘A‘I 12.13 9 0.00192 0.00916 0.00075 0.00225 0.02144 0.20407 0.00243 0.04945 0.00000 0.07267 0.00648 0.03069

12.14 12 0.00103 | 0.00633 | 0.00051 0.00162 | 0.02070 | 0.18498 | 0.00161 0.03841 0.00000 | 0.05838 | 0.00513 | 0.05103

12.15 8 0.00104 | 0.00412 | 0.00028 | 0.00184 | 0.02149 | 0.24008 | 0.00230 | 0.01915 | 0.00000 | 0.03531 0.00738 | 0.01001

12.11 16 0.00514 | 0.01290 0.00048 0.00189 0.07669 0.32630 0.00120 0.17469 0.00001 0.23052 0.00404 0.26877

12.12 17 0.00128 | 0.00272 0.00012 0.00586 0.20008 0.84430 0.00217 0.07174 0.00001 0.05776 0.00848 0.02983

(== 1213 11 0.00144 | 0.00548 | 0.00037 | 0.00522 | 0.19782 | 0.91091 0.00145 | 0.09740 | 0.00000 | 0.07508 | 0.00853 | 0.05875

12.14 10 0.00375 | 0.01569 | 0.00141 0.00617 | 0.24945 | 0.99917 | 0.00237 | 0.08981 0.00000 | 0.04294 | 0.01004 | 0.03385

12.15

o

0.00155 0.00576 0.00065 0.00053 0.02192 0.07929 0.00016 0.06041 0.00000 0.01621 0.00180 0.00812

= 37t (2 ~ 206%)
AN FE A (-13 ~ -43%)
1

- A9 59 Oyl Cd 5 3 FEAA B 27 (14 ~ 218%)
- A9 59 dul : As 5 80 FEOIN BE g (<22 ~ -72%)

O XA
g(Pb) 0. 00718ug/m 2 34 71#=0.5ug/m)e 1.43% T+

- HFe)e 0.28954pg/m = 127 & T 7 =& 55 ey
- Fe(0.28954) > Ca0.10803) > Mg(0.06663) > Al(0.08500) > Mn(0.05474) > CI'(0.00955) >
Pb(0.00718) > Cu(0.00652) > Ni(0.00353) > As(0.00224) > Cd(0.00043) > Be(0.00000)




(SH g/ m*)

PM- .
T = . As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
sts 8 10.00150{0.00391|0.00015/0.00128{0.00554]/0.09070{0.00041{0.03790|0.00000(0.07352(0.00324|0.03852
=2t 12 {0.00257{0.00788|0.00041|0.00157{0.01909{0.23099|0.00188{0.05573(0.00000/0.09642|0.00528{0.05538
=2 A 15 {0.00226{0.00844|0.00054|0.00732({0.04514|0.20448|0.03447{0.07407{0.00000|0.17767|0.01098{0.05824
ot 12 10.00263(0.00851]0.00061]0.00393({0.14919|0.63200({0.00147|0.09881(0.00000|{0.08450|0.00658(0.07986
o 12 10.00224(0.00718]0.00043]0.00353[0.05474)|0.28954(0.00955|0.06663(0.00000|0.10803|0.00652|0.05800
H 2 16 10.00164(0.00897|0.00023]0.00286{0.01961]0.33299(0.00313|0.11271{0.00000|0.18838|0.00640|0.09664
e =€ 24 10.00286|0.01168(0.00027|0.00309({0.03639|0.51390{0.00301|0.11444|0.00001{0.38950|0.00840(0.13574
42l
t_HtTI - 28% | —25% | 59% | 19% | 1996 | -47% | 292% | -50% | 0% | -38% | 1% | -48%
s18
0,
" pp
E%H%I - | -26% | —42% | 37% | 10% | -36% | -66% | 307% | -51% | 0% | -70% | -23% | -63%
XA AH
l:l —oliLra EI'
= (@) =
O 3= S8
3 = = ==
- F(Pb)-2 0.0039pg/ni 2 37 7] =0.5ug/n)2] 0.8% F+=
o) 3 = == o =
- AFe)& 0 9070ug/ mz 127 & Z= /M =2 =52 YJed
. i
- AY w : 107 &AM v5 T4 (-1 ~ -26%)
. i
- A4 59 qqu As & 107} @F-olA e (<16 ~ -57%)




(SH g/ m*)

T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 8 0.00150(0.00391|0.00015{0.00128/0.00554]0.09070{0.00041{0.03790|0.00000{0.07352{0.00324|0.03852
™ 2 16 [0.00254{0.00507|0.00024|0.00154[0.00793(0.23744|0.00056|0.12086{0.00001|0.18737|0.00343|0.10120
HESE 22 10.00739|0.01770{0.00022(0.00145|0.01014{0.28057(0.00074{0.09633|0.00001{0.31767{0.00372|0.10873

<
|I:_H§| - | -41% | -23% | -35% | —17% | —=30% | -62% | -28% | -69% | 0% | -61% | —6% | -62%
Eora=y
%) | d<
=3 - | -80% | -78% | -31% | ~11% | -45% | -68% | -45% | -61% | 0% | -77% | -13% | -65%
CHH|

O BYE AL

=
- F(Pbh)S 0.00844ug/mi 2 37 7] 320.5ue/n)e) 1.7% F=2)
- AFe)& 0.20448ug/m = 127 & = 7MA =& 52 ey
- A€ dH] : As 5 87l dEANA TFE =V} (4 ~ 462%)
Fe %‘ 3N FEFoA T Ta (-37 ~ -55%)
- Ad F€ tiv] : As & Sl oA w5 STt (34 ~ 550%)
- Ad 5€ WMl Pb 5 67 FFA T= A (=5 ~ -65%)
(SHR g/ m*)
T & PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= H 15 |0.00226{0.00844(0.00054|0.00732(0.04514{0.20448|0.03447|0.07407{0.00000(0.17767|0.01098{0.05824
™ 2 16 |0.00095(0.00814(0.00020|0.00468(0.02775[0.45049|0.00614|0.11803{0.00000(0.24150|0.00884(0.11230
HAEE 22 10.00129|0.00928{0.00029|0.00446{0.03360(0.59217|0.00530{0.11339|0.00001{0.42636{0.01152|0.11349
42
E_Hlj - 136% | 4% | 167% | 57% | 63% | -55% | 462% | -37% | 0% 6% | 24% | -48%
sdE
%) | dd
g - 74% | -9% | 84% | 64% | 34% | —-65% | 550% | -35% | 0% | -58% | -5% | -49%
e
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- |(Pb
- dA(Fe

- A4 ¥ - As T 270 &oll A

)= 0

)= 0

00788pug/m 2 37 7] =0.5ug/m) 2] 1.6% T+
23009g/mi 2 127) 2 F 4 =S FES ey
o
o



A9 Uyl Pb 5 97 FEAAN ¥R Ta (-18 ~ -44%)
Ad B9 oE c As 5 20 F2eA FE Z7b (<13 ~ -69%)
Ad 549 tiv] - Pb 5 Y dFANAN FE A (-13 ~ -69%)

(SH g/ m*)

T PM-10, As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 12 |0.00257|0.00788(0.00041|0.00157{0.01909{0.23099|0.00188|0.05573(0.00000|0.09642|0.00528|0.05538
o 16 10.00143(0.01369|0.00026(0.00236|0.02316{0.31104(0.00268|0.09925{0.00000|0.13626|0.00695|0.07642
HEsE 30 |0.00108|0.01267{0.00034|0.00343{0.04105(0.66078|0.00444{0.13470|0.00001{0.48158(0.01235|0.13986

x 2l
II:_HHE| - 80% | -42% | 60% | -34% | -18% | —26% | -30% | -44% | 0% | —29% | -24% | -28%
SUe
%) | B4
=3 - 137% | -38% | 23% | -54% | -53% | —-65% | -58% | -59% | 0% | -80% | -57% | -60%
CH ]
O olF% 244

- Y(Pb)& 0.00851ug/mi 2 37 71 2(0.50e/ni) 2] 1.7% 23]

- AFe)< 0.63200pg/mi = 127} 382 = 714 =& 55 ey

- 24 iy s 8l A&EAAN T2 STt (23 ~ 236%)

Mg & 3/ &AM = 74 (-17 ~ -49%)

- A B9 0 - As 5 T FEAN BE 27} © ~ 172%)

Cr 5 Il &&FAA T 4 (-5 ~ -75%)
(Tl ug/m*)

T & PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
3 ¥ 12 |0.00263 | 0.00851 | 0.00061 | 0.00393 | 0.14919 | 0.63200 | 0.00147 | 0.09881 | 0.00000 | 0.08450 | 0.00658 | 0.07986
oo 15 0.00179 | 0.00573 | 0.00018 | 0.00310 | 0.07956 | 0.51210 | 0.00117 | 0.11887 | 0.00000 | 0.16512 | 0.00495 | 0.12957

MEsg 22 |0.00166 | 0.00709 | 0.00022 | 0.00304 | 0.06079 | 0.52209 | 0.00154 | 0.11334 | 0.00000 | 0.33239 | 0.00603 | 0.18085
9
II:_HI:|E| - 47% | 49% | 236% | 27% | 88% | 23% | 256% | -17% | 0% |-49% | 33% | —-38%
EoRaR=
(%) M
=3 - B8% | 20% | 172% | 29% | 145% | 21% | -5% | -13% | 0% |-75% | 9% |-56%
CH ]




] 212X to] dlul
O HAF 4R Yg3e] F% H|1l x 3¢ A8 nFgHow HY A7 v
- Pb 5 87} &=ollA 34k e FEE ek
- Cr oA FAE ARt 58 555 el
(=H g/ m)
T = Pb cd Cr Cu Mn Fe Ni Al Ca Mg As Be
75“.5" 0.00897| 0.00023| 0.00313| 0.00640| 0.01961| 0.33299| 0.00286| 0.09664| 0.18838| 0.11271| 0.00286| 0.00001
g
(23.11) HAF10.00740 | 0.00005 | 0.00579 ] 0.01402 | 0.03201 | 0.58221 | 0.00506 | 0.14852 | 0.31783 | 0.16105 | 0.00050 | 0.00000
S 10.08783|0.00425 | 0.00264 | 0.02961 | 0.03361 | 0.47775 | 0.00508 | 0.14558 | 0.39847 | 0.12288 | 0.01906 | 0.00000
[81 A 1] ZADIZE T JJA 2 jean: zm4 =8 2 jj88 U8
O =A7|zF : 2023. 12. 11. ~ 12. 15.
KEAHLE F5P
(¢9 : mm)
ol ol o 7°I-_?_ %—
= 1 ol ol
T = AWS 1LX}F | 2K} | 3UX}F | 42K} | 5UKL o1 a JbAa
o ToOo
Stea ots 25.0 0.5 0.0 50.0 11.0 4 86.5
HMS S5A 30.3 0.9 0.0 26.7 19.6 4 77.5
S¢S | Ozl | 29.0 1.5 0.0 32.0 18.5 4 81
otF& A 39.6 1.0 0.0 334 113 4 85.3
KSAHLE HA7|2
(&9 : ©)
+ = 1LX | 2¥XE | 3¥XF | 4¥XE | 5UX}E | E Yo
Stea 12.7 10.4 92 938 123 9.2 12.7 10.9
HME 12.7 9.9 94 95 12.9 9.4 12.9 10.9
U5 12.6 9.6 9.1 93 12.9 9.1 12.9 10.7
otF = 14.3 10.4 9.8 11.9 15.7 9.8 15.7 12.4




(EAHLE 5>
(&9 : %)
+ = 19X | 2K | 3YUXE | 4€YX} | SUX} S | £ | Yo
Ste= 96.2 81.5 79.3 94.7 89.5 79.3 96.2 88.2
HYMES 85.3 76.8 70.9 81.1 923 70.9 923 81.3
A4S 87.3 80.9 74.0 84.1 92.7 74.0 927 83.8
otFs 90.8 81.5 76.5 86.4 90.5 76.5 90.8 85.1
(EARALAH E5)
(24 m/s)
TE 1L Xt 22U XL 32X} 4L Xt 5 X} ES P | x| s
Stea 1.6 15 1.4 1.3 1.3 13 16 14
HME 0.7 0.6 0.7 0.6 0.9 0.6 0.9 0.7
S4E 0.6 0.6 0.7 0.5 0.8 0.5 0.8 0.6
otF& 04 04 0.5 0.3 0.5 0.3 0.5 0.4
 EA44E Fe >
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